Çankaya University Journal of Science and Engineering Volume 11 (2014), No. 1, 65–76

CUJ

Approximate Analytical Solutions of the Damped Burgers and Boussinesq-Burgers Equations

Alaattin Esen, Orkun Taşbozan, Selçuk Kutluay

Department of Mathematics, Faculty of Science and Art, İnönü University, Malatya, Turkey, e-mail: {alaattin.esen, orkun.tasbozan, selcuk.kutluay}@inonu.edu.tr

Abstract: In this paper, the Homotopy Analysis Method (HAM) is applied to the damped Burgers and Boussinesq-Burgers equations to obtain their approximate analytical solutions. The HAM solution includes an auxiliary parameter \hbar which provides a convenient way to adjust and control the convergence region of the solution series. An appropriate choice of the auxiliary parameter in the model problems for increasing time is investigated.

Keywords: Homotopy analysis method, approximate analytical solution, damped Burgers equation, Boussinesq-Burgers equation.

1. Introduction

Mathematical modeling of many physical phenomena in various fields of physics and engineering generally leads to nonlinear ordinary or partial differential equations. It is known that investigating and constructing exact and numerical solutions of these equations are of great importance in applied mathematics. The HAM, which was first proposed by Liao [1, 2], is a powerful tool to find the approximate solutions of nonlinear evolution equations (NLEEs). Unlike perturbation techniques, the HAM is not limited to any small physical parameters in the considered equation. Therefore, the HAM can overcome the foregoing restrictions and limitations of perturbation techniques so that it provides us with a powerful tool to analyze strongly nonlinear problems[3]. This method has been successfully applied in order to solve several nonlinear problems arising in science and engineering by many authors [1-17] and the references therein. In this paper, we will apply the HAM to the damped Burgers and Boussinesq-Burgers equations.

2. Fundamentals of the HAM

In this manuscript, HAM has been applied to the problem discussed. In order to provide fundamentals of the method, let us consider the following differential equation

$$\mathcal{N}\left[u(x,t)\right]=0,$$

where \mathcal{N} is a nonlinear operator, x and t denote independent variables, u(x,t) is an unknown function, respectively. By generalizing the HAM, Liao [1, 2] has constructed the so-called zero-order deformation equation

$$(1-p)\mathscr{L}[\phi(x,t;p)-u_0(x,t)] = p\hbar\mathscr{N}[\phi(x,t;p)], \qquad (1)$$

where $p \in [0,1]$ is the embedding parameter, $\hbar \neq 0$ is an auxiliary parameter, \mathscr{L} is an auxiliary linear parameter, $u_0(x,t)$ is an initial guess of u(x,t), $\phi(x,t;p)$ is an unknown function, respectively. One must note that one has great freedom to select auxiliary items in HAM. Obviously, if we choose p = 0 and p = 1 then we obtain

$$\phi(x,t;0) = u_0(x,t), \phi(x,t;1) = u(x,t),$$

respectively. Therefore, as the embedding parameter *p* increases from 0 to 1, the solutions $\phi(x,t;p)$ vary from the initial value $u_0(x,t)$ to the solution u(x,t). If we expand $\phi(x,t;p)$ in the Taylor series with respect to the embedding parameter *p*, we get

$$\phi(x,t;p) = u_0(x,t) + \sum_{m=1}^{\infty} u_m(x,t)p^m,$$

where

$$u_m(x,t) = \frac{1}{m!} \frac{\partial^m \phi(x,t;p)}{\partial p^m} \bigg|_{p=0}.$$
(2)

If the auxiliary linear operator, the initial guess and the auxiliary parameter \hbar are chosen in a proper way, the above series converges at p = 1, and we obtain

$$u(x,t) = u_0(x,t) + \sum_{m=1}^{\infty} u_m(x,t),$$

which must be one of the solutions of the original nonlinear equation, as proved by Liao [2, 5]. According to (2), the governing equation can be reduced from the zero-order deformation equation (1). Define the vector

$$\mathbf{u}_n = \{u_0(x,t), u_1(x,t), ..., u_n(x,t)\}.$$

If we differentiate Eq. (1) *m* times with respect to the embedding parameter *p* and then get p = 0 and divide by *m*!, we obtain the *m*th-order deformation equation

$$\mathscr{L}\left[u_m(x,t) - \chi_m u_{m-1}(x,t)\right] = \hbar R_m(\mathbf{u}_{m-1}),\tag{3}$$

CUJSE 11 (2014), No. 1

where

$$R_m(\mathbf{u}_{m-1}) = \frac{1}{(m-1)!} \frac{\partial^{m-1} \mathscr{N}[\phi(x,t;p)]}{\partial p^{m-1}} \Big|_{p=0}$$
$$\chi_m = \begin{cases} 0, & m \le 1, \\ 1, & m > 1. \end{cases}$$

and

Finally, we emphasize that
$$u_m(x,t)$$
 for $m \ge 1$ is governed by the Eq. (3) with the boundary condition coming from the problem. It can be easily solved using symbolic computation software such as Mathematica.

3. Applications of the HAM

3.1. The damped Burgers equation. We first consider the damped Burgers equation [18-22] which describes the plane motion of a continuous medium, in the following form

$$u_t + uu_x - u_{xx} + \lambda u = 0, \tag{4}$$

with initial condition

$$u(x,0) = \lambda x. \tag{5}$$

To investigate the series solution of Eq. (4) with initial condition (5), we choose the linear operator

$$\mathscr{L}[\phi(x,t;p)] = \frac{\partial \phi(x,t;p)}{\partial t},$$

with the property

 $\mathscr{L}[c] = 0,$

where c is constant. From Eq. (4), we now define a nonlinear operator as

$$\mathscr{N}[\phi(x,t;p)] = \frac{\partial \phi(x,t;p)}{\partial t} + \phi(x,t;p)\frac{\partial \phi(x,t;p)}{\partial x} - \frac{\partial^2 \phi(x,t;p)}{\partial x^2} + \lambda \phi(x,t;p).$$

Therefore, we construct the zero-order deformation equation as

$$(1-p)\mathscr{L}[\phi(x,t;p)-u_0(x,t)] = p\hbar\mathscr{N}[\phi(x,t;p)].$$
(6)

Obviously, if we choose p = 0 and p = 1 then we obtain

$$\phi(x,t;0) = u_0(x,t) = u(x,0), \phi(x,t;1) = u(x,t),$$

respectively. Thus, as the embedding parameter p increases from 0 to 1, the solutions $\phi(x,t;p)$ vary from the initial value $u_0(x,t)$ to the solution u(x,t). By expanding $\phi(x,t;p)$ in the Taylor series with respect to the embedding parameter p, we get

$$\phi(x,t;p) = u_0(x,t) + \sum_{m=1}^{\infty} u_m(x,t) p^m,$$
(7)

Esen et al.

where

$$u_m(x,t) = \frac{1}{m!} \frac{\partial^m \phi(x,t;p)}{\partial p^m} \bigg|_{p=0}.$$
(8)

If the auxiliary linear operator, the initial guess and the auxiliary parameter \hbar are properly chosen, the above series converges at p = 1, and one has

$$u(x,t) = u_0(x,t) + \sum_{m=1}^{\infty} u_m(x,t),$$

which must be one of the solutions of the original nonlinear equation, as proved by Liao [2, 5]. By differentiating Eq. (6) m times with respect to the embedding parameter p, we obtain the mth-order deformation equation

$$\mathscr{L}\left[u_m(x,t) - \chi_m u_{m-1}(x,t)\right] = \hbar R_m\left(\mathbf{u}_{m-1}\right),\tag{9}$$

where

$$R_m(\mathbf{u}_{m-1}) = \frac{\partial u_{m-1}}{\partial t} - \frac{\partial^2 u_{m-1}}{\partial x^2} + \lambda u_{m-1} + \sum_{n=0}^{m-1} u_n(x,t) \frac{\partial u_{m-1-n}}{\partial x}.$$

The solution of the *m*th-order deformation Eq. (9) for $m \ge 1$ leads to

$$u_m(x,t) = \chi_m u_{m-1}(x,t) + \hbar \mathscr{L}^{-1} [R_m(\mathbf{u}_{m-1})].$$
(10)

By using Eq.(10) with initial condition given by (5) we successively obtain

$$\begin{split} u_{0}(x,t) &= 2\hbar t x \lambda^{2}, \\ u_{1}(x,t) &= 2\hbar t x \lambda^{2} + 2\hbar^{2} t x \lambda^{2} + 3\hbar^{2} t^{2} x \lambda^{3}, \\ u_{2}(x,t) &= \frac{1}{3} \left(6\hbar t x \lambda^{2} + 12\hbar^{2} t x \lambda^{2} + 6\hbar^{3} t x \lambda^{2} + 18\hbar^{2} t^{2} x \lambda^{3} + 18\hbar^{3} t^{2} x \lambda^{3} + 13\hbar^{3} t^{3} x \lambda^{4} \right), \\ u_{3}(x,t) &= \frac{1}{4} \left(8\hbar t x \lambda^{2} + 24\hbar^{2} t x \lambda^{2} + 24\hbar^{3} t x \lambda^{2} + 8\hbar^{4} t x \lambda^{2} + 36\hbar^{2} t^{2} x \lambda^{3} + 72\hbar^{3} t^{2} x \lambda^{3} + 36\hbar^{4} t^{2} x \lambda^{3} + 52\hbar^{3} t^{3} x \lambda^{4} + 52\hbar^{4} t^{3} x \lambda^{4} + 25\hbar^{4} t^{4} x \lambda^{5} \right) \\ &\vdots \end{split}$$

Therefore, the series solutions expressed by HAM can be written in the form

$$u(x,t) = u_0(x,t) + u_1(x,t) + u_2(x,t) + u_3(x,t) + \dots$$
(11)

To demonstrate the efficiency of the method, we compare the HAM solutions of Burgers equation with the/a linear damping term given by Eq. (4) with exact solutions [20]

$$u(x,t) = \frac{\lambda x}{2\exp(\lambda t) - 1}.$$
(12)

Note that our HAM solution series contains the auxiliary parameter \hbar which provides us with a simple way to adjust and control the convergence of the solution series. To obtain an appropriate

range for \hbar , we consider the so-called \hbar -curve to choose a proper value of \hbar which ensures that the solution series is convergent, as pointed by Liao [2], by discovering the valid region of \hbar , which corresponds to the line segments nearly parallel to the horizontal axis.



FIGURE 1. The \hbar -curves of 30th-order approximate solution obtained by the HAM for $\lambda = 1.0$.

In Fig.1, we demonstrate the \hbar -curves of u(0.1,1) and $u_t(0.1,1)$ given by 30th-order HAM solution (11) for $\lambda = 1.0$. It can be seen from the figure that the valid range of \hbar is approximately $-0.7 \le \hbar \le -0.1$.



FIGURE 2. The results obtained by the HAM for various \hbar by 30th-order approximate solution, in comparison with the exact solution at x = 1 for $\lambda = 1.0$.

Fig. 2 shows the numerical solutions of u(x,t) at x = 1 during $0 \le t \le 5$ for $\hbar = -0.2, -0.4, -0.8$ and -1.0 obtained by 30th-order HAM and analytical solutions, respectively. Between t = 0 and t = 5, it can be seen from this figure that the choice of $\hbar = -0.2$ is a suitable value. **3.2. The Boussinesq-Burgers equation.** We secondly consider the Boussinesq-Burgers equation [23-25]

$$u_t - \frac{1}{2}v_x + 2uu_x = 0,$$

$$v_t - \frac{1}{2}u_{xxx} + 2(uv)_x = 0,$$
(13)

with initial conditions

$$u(x,0) = -\frac{w}{2k} + \frac{k}{2} \tanh(kx),$$

$$v(x,0) = -\frac{k^2}{2} \operatorname{sech}^2(kx),$$
(14)

where k and w are arbitrary constants. To investigate the series solution of Eq. (13) with initial condition (14), we choose the linear operator

$$\mathscr{L}[\phi_i(x,t;p)] = \frac{\partial \phi_i(x,t;p)}{\partial t}, i = 1,2$$

with the property

$$\mathscr{L}[c_i]=0,$$

where c_i (i = 1, 2) are integral constants. From (13), we now define a system of nonlinear operators as

$$\mathcal{N}_1[\phi_1(x,t;p),\phi_2(x,t;p)] = \frac{\partial \phi_1(x,t;p)}{\partial t} - \frac{1}{2} \frac{\partial \phi_2(x,t;p)}{\partial x} + 2\phi_1(x,t;p) \frac{\partial \phi_1(x,t;p)}{\partial x},$$
$$\mathcal{N}_2[\phi_1(x,t;p),\phi_2(x,t;p)] = \frac{\partial \phi_2(x,t;p)}{\partial t} - \frac{1}{2} \frac{\partial^3 \phi_1(x,t;p)}{\partial x^3} + 2\frac{\partial}{\partial x} (\phi_1(x,t;p)\phi_2(x,t;p)).$$

We construct the zero-order deformation equations

$$(1-p)\mathscr{L}[\phi_1(x,t;p) - u_0(x,t)] = p\hbar_1 \mathscr{N}_1[\phi_1(x,t;p),\phi_2(x,t;p)],$$
(15)

$$(1-p)\mathscr{L}[\phi_2(x,t;p) - v_0(x,t)] = p\hbar_2\mathscr{N}_2[\phi_1(x,t;p),\phi_2(x,t;p)].$$
(16)

Obviously, if we choose p = 0, then we obtain

$$\phi_1(x,t;0) = u_0(x,t) = u(x,0), \\ \phi_2(x,t;0) = v_0(x,t) = v(x,0), \\ \phi_1(x,t;0) = v_0(x,t) = v(x,0), \\ \phi_1(x,t;0) = u_0(x,t) = u(x,0), \\ \phi_2(x,t;0) = v_0(x,t) = v(x,0), \\ \phi_2(x,t;0) = v_0(x,t) = v_$$

and when p = 1,

$$\phi_1(x,t;1) = u(x,t), \qquad \phi_2(x,t;1) = v(x,t).$$

Thus, as the embedding parameter p increases from 0 to 1, the solutions $\phi_i(x,t;p)$ (for i = 1,2) vary from the initial guess $u_0(x,t)$ and $v_0(x,t)$ to the solution u(x,t) and v(x,t), respectively. By expanding $\phi_i(x,t;p)$ for i = 1,2 in the Taylor series with respect to p, we get

$$\phi_1(x,t;p) = u_0(x,t) + \sum_{m=1}^{\infty} u_m(x,t) p^m,
\phi_2(x,t;p) = v_0(x,t) + \sum_{m=1}^{\infty} v_m(x,t) p^m,$$
(17)

where

$$u_m(x,t) = \frac{1}{m!} \frac{\partial^m \phi_1(x,t;p)}{\partial p^m} \Big|_{p=0},$$

$$v_m(x,t) = \frac{1}{m!} \frac{\partial^m \phi_2(x,t;p)}{\partial p^m} \Big|_{p=0}.$$
(18)

CUJSE 11 (2014), No. 1

When the auxiliary linear operator, the initial guess and the auxiliary parameters \hbar_i are properly chosen, the above series converges at p = 1, and one has

$$u(x,t) = u_0(x,t) + \sum_{m=1}^{\infty} u_m(x,t),$$
$$v(x,t) = v_0(x,t) + \sum_{m=1}^{\infty} v_m(x,t),$$

which must be one of the solutions of the original nonlinear equation, as proved by Liao [2, 5]. By differentiating Eqs. (15) and (16) *m*-times with respect to the embedding parameter p, we obtain the *m*th-order deformation equations

$$\mathscr{L}\left[u_m(x,t) - \chi_m u_{m-1}(x,t)\right] = \hbar_1 R_{1,m}\left(\mathbf{u}_{m-1}, \mathbf{v}_{m-1}\right),\tag{19}$$

$$\mathscr{L}\left[v_m(x,t) - \boldsymbol{\chi}_m v_{m-1}(x,t)\right] = \hbar_2 R_{2,m}\left(\mathbf{u}_{m-1}, \mathbf{v}_{m-1}\right),\tag{20}$$

where

$$R_{1,m}(\mathbf{u}_{m-1},\mathbf{v}_{m-1}) = \frac{\partial u_{m-1}}{\partial t} - \frac{1}{2}\frac{\partial v_{m-1}}{\partial x} + 2\sum_{n=0}^{m-1}u_n(x,t)\frac{\partial u_{m-1-n}}{\partial x},$$
$$R_{2,m}(\mathbf{u}_{m-1},\mathbf{v}_{m-1}) = \frac{\partial v_{m-1}}{\partial t} - \frac{1}{2}\frac{\partial^3 u_{m-1}}{\partial x^3} + 2\frac{\partial}{\partial x}\left(\sum_{n=0}^{m-1}u_n(x,t)v_{m-1-n}\right).$$

The solution of the *m*th-order deformation Eqs. (19) and (20) for $m \ge 1$ leads to

$$u_m(x,t) = \chi_m u_{m-1}(x,t) + \hbar_1 \mathscr{L}^{-1} [R_{1,m} (\mathbf{u}_{m-1}, \mathbf{v}_{m-1})], \qquad (21)$$

$$v_m(x,t) = \chi_m v_{m-1}(x,t) + \hbar_2 \mathscr{L}^{-1} \left[R_{2,m} \left(\mathbf{u}_{m-1}, \mathbf{v}_{m-1} \right) \right].$$
(22)

For simplicity, assuming that $\hbar_1 = \hbar_2 = \hbar$, by using Eqs.(21) and (22) with initial conditions given by (14) we successively obtain

$$\begin{split} u_0(x,t) &= -\frac{w}{2k} + \frac{k}{2} \tanh(kx) \,, \\ u_1(x,t) &= -\frac{1}{2} \hbar k t w \mathrm{sech}^2(kx) \,, \\ u_2(x,t) &= -\frac{1}{2} \hbar k t w \mathrm{sech}^2(kx) \,(1 + \hbar + \hbar t w \tanh(kx)) \,, \\ u_3(x,t) &= -\frac{1}{12} \hbar k t w \mathrm{sech}^4(kx) \,(3 + \hbar \left(6 + 3\hbar - 4\hbar t^2 w^2\right) \\ &+ \left(3 + \hbar \left(6 + \hbar \left(3 + 2t^2 w^2\right)\right)\right) \cosh(2kx) + 6\hbar (1 + \hbar) t w \sinh(2kx) \,) \\ &\vdots \end{split}$$



FIGURE 3. The \hbar -curve for 7th-order approximate solution of u(x,t) obtained by the HAM.

and

$$\begin{split} v_0(x,t) &= -\frac{k^2}{2} \operatorname{sech}^2(kx) \,, \\ v_1(x,t) &= -\hbar k^2 t w \operatorname{sech}^2(kx) \tanh(kx) \,, \\ v_2(x,t) &= -\frac{1}{2} \hbar k^2 t w \operatorname{sech}^4(kx) \left(\hbar t w (-2 + \cosh(2kx)) + (1 + \hbar) \sinh(2kx) \right) , \\ v_3(x,t) &= -\frac{1}{6} \hbar k^2 t w \operatorname{sech}^4(kx) \left(6\hbar (1 + h) t w \cosh(2kx) \right) \\ &+ \left(3 + \hbar \left(6 + 3\hbar + 2\hbar t^2 w^2 \right) \right) \sinh(2kx) - 12\hbar t w (1 + \hbar + \hbar t w \tanh(kx)) \right) \\ &\vdots \end{split}$$

Therefore, the series solutions expressed by the HAM can be written in the form

$$u(x,t) = u_0(x,t) + u_1(x,t) + u_2(x,t) + u_3(x,t) + \dots,$$
(23)

$$v(x,t) = v_0(x,t) + v_1(x,t) + v_2(x,t) + v_3(x,t) + \dots$$
(24)

To demonstrate the efficiency of the method, we compare the HAM solutions for Eq. (13) with exact solutions [25]

$$u(x,t) = -\frac{w}{2k} + \frac{k}{2} \tanh(kx + wt),$$

$$v(x,t) = -\frac{k^2}{2} \operatorname{sech}^2(kx + wt).$$
(25)

For all calculations in the present paper, k and w are going to be taken as 1/8 and 1/16, respectively.

The \hbar -curves obtained based on the 7th-order HAM solutions for the Boussinesq-Burgers equation are presented in Figs. 3-4. As pointed above, the valid region of \hbar is a nearly horizontal line

CUJSE 11 (2014), No. 1



FIGURE 4. The \hbar -curve for 7th-order approximate solution of v(x,t) obtained by the HAM.

segment. Therefore, it can be seen from the figure that the valid range of \hbar is approximately $-1.5 \le \hbar \le -0.3$.



FIGURE 5. The results obtained by the HAM for various \hbar by 7th-order approximate solution of u(x,t), in comparison with the exact solution at x = 2.

Figs. 5-6 shows the numerical solutions of u(x,t) and v(x,t) at x = 2 during $0 \le t \le 25$ for $\hbar = -0.8$, -0.9, -1.0 and -1.1 obtained by the HAM and analytical solutions, respectively. Between t = 0 and t = 25, it can be seen from these figures that the choice of $\hbar = -0.8$ is a suitable value.



FIGURE 6. The results obtained by the HAM for various \hbar by 7th-order approximate solution of v(x,t), in comparison with the exact solution at x = 2.

4. Conclusion

In this paper, the HAM has been successfully applied to obtain approximate analytical solution of the damped Burgers and Boussinesq-Burgers equations. It has been also seen that the HAM solution of the problem converges very rapidly to the exact one by choosing an appropriate auxiliary parameter \hbar . In conclusion, this study shows that the HAM is a powerful and efficient technique for finding the approximate analytical solution of the damped Burgers and Boussinesq-Burgers equations and also many other nonlinear evolution equations arising in science and engineering.

References

- S. J. Liao, The proposed homotopy analysis technique for the solution of nonlinear problems, Ph.D thesis, Shanghai Jiao Tong University, (1992).
- [2] S. J. Liao, Beyond Perturbation: Introduction to the Homotopy Analysis Method, Chapman and Hall/CRC Press, Boca Raton, (2003).
- [3] S. J. Liao, Homotopy analysis method: A new analytical technique for nonlinear problems, *Commun. Nonlinear Sci. Numer. Simulat.* 2(2), (1997), 95-100.
- [4] S. J. Liao, On the homotopy analysis method for nonlinear problems, Appl. Math. Comput., 147, (2004), 499-513.
- [5] S. J. Liao, Notes on the homotopy analysis method: Some definitions and theorems, *Commun. Nonlinear Sci. Numer. Simulat.*, 14, (2009), 983-997.
- [6] S. Abbasbandy, The application of homotopy analysis method to solve a generalized Hirota-Satsuma coupled KdV equation, *Phys. Lett. A*, 361, (2007), 478-483.
- [7] E. Babolian, J. Saeidian, Analytic approximate solutions to Burgers, Fisher, Huxley equations and two combined forms of these equations, *Commun. Nonlinear. Sci. Numer. Simulat.*, 14, (2009), 1984-1992.

- [8] A. Fakhari, G. Domairry, Ebrahimpour, Approximate explicit solutions of nonlinear BBMB equations by homotopy analysis method and comparison with the exact solution, *Phys. Lett. A*, **368**, (2007), 64-68.
- [9] M. M. Rashidi, G. Domairry, A. DoostHosseini, S. Dinarvand, Explicit Approximate Solution of the Coupled KdV Equations by using the Homotopy Analysis Method, *Int. Journal of Math. Analysis*, 2(12), (2008), 581-589.
- [10] M. Inc, On numerical solution of Burgers equation by homotopy analysis method, *Phys Lett A*, **372**, (2008), 356-360.
- [11] A. S. Bataineh, M. S. M. Noorani, I. Hashim, Approximate analytical solutions of systems of PDEs by homotopy analysis method, *Comp. Math. Appl.*, 55, (2008), 2913-2923.
- [12] S. Abbasbandy, The application of homotopy analysis method to nonlinear equations arising in heat transfer, *Phys. Lett. A*, **360**, (2006), 109-113.
- [13] T. Hayat, M. Sajid, On analytic solution for thin film flow of a forth grade fluid down a vertical cylinder, *Phys. Lett. A*, **361**, (2007), 316-322.
- [14] S. J. Liao, A. Y. Tan, A general approach to obtain series solutions of nonlinear differential equations, *Commun. Nonlinear. Sci. Numer. Simulat.*, 14, (2009), 983-997.
- [15] A. Esen, O. Taşbozan and N.M. Yağmurlu, Approximate Analytical Solutions of the Fractional Sharmo-Tasso-Olver Equation Using Homotopy Analysis Method and a Comparison with Other Methods, *Çankaya University Journal of Science and Engineering*, 9(2), (2012), 139-147.
- [16] A. Esen, N.M. Yağmurlu and O. Taşbozan, Approximate Analytical Solution to Time-Fractional Damped Burger and Cahn-Allen Equations, *Applied Mathematics Information Sciences*, 7(5), (2013), 1951-1956.
- [17] O. Taşbozan, A. Esen and N.M. Yağmurlu, Approximate analytical solutions of fractional coupled mKdV equation by homotopy analysis method, *Open Journal of Applied Science*, 2(3), (2012), 193-197.
- [18] P. L. Sachdev, Nonlinear Diffusive Waves, Cambridge University Press, (1987).
- [19] W. Malfliet, Approximate solution of the damped Burgers equation, J. Phys. A: Math. Gen., 26, (1993), L723-L728.
- [20] Y. Peng, W. Chen, A new similarity solution of the Burgers equation with linear damping *Czech. J, Phys.*, **56**, (2008), 317-428.
- [21] B. M. Vaganan, M. S. Kumaran, Similarity Solutions of the Burgers Equation with linear damping, *Appl. Math. Lett.* 17, (2004), 1191-1196.
- [22] B. M. Vaganan, M. S. Kumaran, Kummer function solutions of damped Burgers equations with time-dependent viscosity by exact linearization, *Nonlinear Anal. Real World Appl.*, 4, (2003), 723-741.
- [23] X. M. Li, A. H. Chen, Darboux transformation and multi-soliton solutions of Boussinesq-Burgers equation, *Phys. Lett. A*, 342, (2005), 413-420.
- [24] L. Gao, W. Xu, Y. Tang, G. Meng, New families of travelling wave solutions for Boussinesq-Burgers equation and (3+1)-dimensional Kadomtsev-Petviashvili equation, *Phys. Lett. A*, **366**, (2007), 411-421.
- [25] A. S. A. Rady, M. Khalfallah, On soliton solutions for Boussinesq-Burgers equations, *Commun. Nonlinear Sci. Numer. Simulat.*, 15, (2010), 886-894.